tresiovy

N
513 |8
ag H
g | g
S
2o
Zla e
Zlg 7|52
=223
a9 3|5¢c
solez
%] 3lax
Lixala
318282
z[25°
R8s
1 13513
= T A%
Sla e
3

g |o

=

a |l

=,

N

R
Q=

@ |5

B

3

g
S
5| 2| g
g5 |3
—T= =
RS
g1
S|

1504un DAowoq Appiypz 10)50Jd YoLUAOYUIA 1HZNAA

><Astm 2tepily
K 4

fasan ztepily

borovice ternd

davor klen

3 avor miee
£jasan ztepily

1,

Pesdle kralovsky

s

/

ulalocry i
" jinan dvoulalotny

/

('\Qr‘eseﬁ pilovitd

(ol ® e C
PP X b [T
s3338ung @
BeBRx sl [T
maomS 34 S
iz 3D 003
Bplpgg 32y i
2323329 &
66 0o - FEX
§888us Y O
ER R
wm=od 20 = >
2 0 &
o8 X3
g3n3
® T34
& <
e
b -
& 5
b °
g 3
N
by
0
%
B
n
o
ES

vorovice ve jmutoyke

avor niée

3 .

><Jvor‘ miée

L

oy srdcita

¥ ><avor nlee
] 3

\,-‘wy‘:mu jednosemenny ~pa sraita 16 2058
ey ) pa srdeits
>< >’§wor nec
%2 8
4 po srd
@5@; srdita Xavor niec

14

pa srdcit

& %

><ov0r meée

3

Lol po—

><:va’r e
Z

ichlavy
§r\r$&-‘p?chluvy {

g 63 \ ! xover mée
\ / 3

| vor miee

H 0

><avqr mlée
i

9

[ >§uvor niee
j>§avor niec
><nvor nlee

B

avar mléc

¢

CAavor met

hodogéndron
é/ae ><nvcr‘ niee
S0

1

tis cerveny




